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/. gl OMR IAT UAG W HTA 1.
uyT giETsr wE (10 afan‘ )
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. Candidate must. enter his / her’
Questmn Booklet Serial - No.
(10 Digits) in ‘the OMR Answer

' Sheet ' _

' '-'R"I‘HTEPT Z?WW 317‘7# vl o 3? - Candldates are required to gwe their
I/ ‘answers in their own words as far

as practicable. |

5 b e gIRTE W ﬁ#gtf 3 gv;fEﬁ 3. Figures in’ the right hand margin
e #vd &1 . indicate full marks.

L

4, gur ?m"}a;}&ziﬁg#ﬁ '76:? & [T 4. 15 minutes of extra ti‘mé have been
ﬁww?aaﬁa? 15 fAE @7 SRk G99 allotted for the candidates ‘to read
7T & the questions carefully.

5. 98 594 — ] 1
" @Wﬁwi?’? @US-§ 5, This question booklet is divided into
que-d § two sections '— Section-A and
Section-B,
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WUE - ¥ / SECTION - A
Eﬂﬁ&fﬁ' W¥T / Objective Type Questions
qvT GEAT 19 70 7% % WRF WY & |y ww fwer Ry av & W#@?%’??‘I

WW?’?WWB‘?%W# omvﬁzwf%ﬁaﬁaﬁ':ﬁm’?ssm#ﬁrﬁ?%i

35x1=385
Questzon Nos.. 1 to 70 have four options, out of which only one is correct You have to .
mark your selected option, on the OMR- Sheet Answer any 35 questtons 35x1=35
Wﬁ Th m& B ¥ |
G a S - T i
(c Fadshd S o) wERH
Menstrual cycle occursin ™. | B S
_ 'Human . . _ ‘  .(B) . -Monkey g o
y [C) | Chlmpanzee T W All of these
@ - an?arﬁ SRR (B)._'-wn?ﬁﬂ%?#ﬁ
| y}/_(maﬂﬂa)'zﬁa‘rﬁr @) Eﬁﬁﬁ%ﬂﬁ
B_inafy fission occurs in - L .
(A) ~ Amoeba . DT (=) " Paramecium
(C) . Both (4) and. [B) ;) B (D)  None of these
/ rsﬁqqqawlﬁ'aﬁamq 18%%a“tq%\“=|=rmmﬁlmwﬁm ?
@ 64 .. ® 36
c '8 o (D) 32
Ina DNA_molccﬁle, the cytosine is 18%, then the percentage of adenine will be
@A 64 . . _ (B): 36

© "8 L e
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ﬁmﬂqﬁmﬁmﬂﬁﬁﬁfmmaﬂ%?

9,
() TR . (B TEWEE
€ UsH D) W
Widal test is done to confirm .
(A) Malaria ' . (B) Typhoid

\9;/ AIDS (D) Cancer |

N/ﬁwﬁﬂﬁf‘mﬁﬁmwwwm%? :
@ pERE @ T

©) zﬂ%ﬂﬁﬁﬁm ,_(D).IT‘WW |

HIV attacks on. whxch of the followmg cells ?

(A) Beell j Tecell

(C) . Epithelial cell . D Thelper cell
/@Wﬁ#mﬁqﬁm eﬁmaﬁ% S

@ TR ® a e

© wER . . - (D) TRRH

‘I‘he substances to which an lmmune response is produced are called

(A) . Allergens | . s B) Vaccmes | .

( Antlbodles "' (D) Antigens -

7. ,Qﬂﬁ‘f%mﬁwﬁaﬁw% |
B fweie

8 el . _
MA}aﬂme'aﬁ S R T

Chemical released due to él]lergy is
(A)  Histamine |
(C)  Both (A) and (B)

(B) Serotonin
(D)

T

None of these =~ .
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8. '. ﬁﬁﬁﬁaﬁ?ﬁtwﬁﬁ?ﬁmﬁwm% ?

" Proceie
( | § (B) UGS
(C) eI hifeTehT o) frdvae s
Which one for.ms endosperm after fusion with male gamete ?
(A) . Oospores . _ : (B) | Antipodals
C‘ .
(€)  Synergids (D}  Secondary nucleus
Wﬁ'ﬁ?ﬂ?{r iﬂ%?ﬁ#?ﬁmﬁwaﬁwﬂm%lwmaﬁﬂ%ﬁﬁ ?
@ R ® s
© SR j( 2 g
One gene pair h1des the effect of another gene palr ‘This phenomenon is -
Epistasis = . CERE (B) :Dominance '
(@ Mutaton; 7. (D) Noneofthese .
10. * ZEH Wﬁqﬁwﬁaﬁ?ﬁﬁmaﬂwﬁwﬁ T FIS d
%zﬂiaﬂr%ﬁ%? -
R”rmﬁ S L o) Al

ucnce of three bases on tRNA wh1ch bmds to mRNA codon 1S

"(B): Non-sense codon
(D) Termmatmn codon

A seq
(A)- Tnplet ;
C) Anticodon

11 gﬁﬁmaﬁqﬁﬁaﬁﬁw@ﬁwwwimm% ?ﬁrwgrrﬂr% ?

(A) ﬂ’lﬂffﬁw o St

. fomg . . (D) T

The group of Wuchereria bancrofti which.causes filaria in human being is
. ()  Protozoa . (B} Bacteria |

. virus . (D)  Helminth

[119]_D (A)-9009-D@4)j - Page 5 of 24



12,

?
mmﬁﬁﬁﬁwﬁrwﬁ-mﬁnaﬁmwﬁﬁﬁﬁr% :

‘ (D) HAHNE

©  wEm

ive i alcohol ?
Which organ of the body is most affected by excessive intake of alc

) Lungs | - B
(©)  Spleen (D)

13/ ted & Fw o U aER ¥

_J‘Z’/ AT | (D)

(A wwifaa (B)

An exception of Mendel's law s
(A) Dominance

Liver

Stomach

POE Yl

Purity of gamete

Indcpendent assortment

(B)
\_[9]/ Linkage (D)
(A) EAD by s (B)
(Cl W&y
Which of the following js 4 sexually tr n
(A) Typhoig
() Malari; o
1S, gimey 3 (

[119]D
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@ fﬂ@ﬁﬂvﬂ%
l[C)_' amﬁammra -

Dodo is

1
@ Wﬁmﬁ
(D) T HE A

(A) EXtin'ct species
(C) Threatened species |

,'17.7%m=~‘rm=rﬁmromm%ay o

Whlch of the followmg is a dlplmd structure ?

(B)  Endangered species
(D)  None of these

' (A) Ovum Lom k - ':[B)_' Endosperm
(© Zygote . . . (D) ‘Allofthese ' .

11:3. ﬁﬂﬁﬁﬁ#qﬁmm@ﬁ%7 ; R
thch one is hydrophyt:lc plant P |

(A)  Trapa
(C) Dalbergza

/Hﬂ?ﬁaﬁﬁwqﬁmﬁ%
@ Fod |
© ars'wmﬁ @

-(B) 'Opi:‘lntia'. |
‘---(D) . Acacia

@ e

Sertoli cells are found in

| Test:s . (B) U.te'rus_
: (C) Ovary SR (D) Liver
T8 5 s,

‘pm')g D4 Page 7.0f 24




. oy A Hpesh B0 ¥ 4
a et (1) 77 s I ¥
in) - aa e XX L XX
© 46+ XY s le) is
. peing (Malc
Wommhies ol chromoaemies i human W"J; 140 XY
(A} a4+ LY o
\K_ﬂ a6 « XY
Ly g s R T W amafdra g ?
(B) ifeer
(A) ¥
(©) SR SR o) R
Rhuno sanctuary is located in which slate ? .
(A]  Assam () West Bengal
(€  Uttar Pradesh (D) Bihar
5y STCRQ 4 STERTER A i §
@ ST T i B T T AN
€ wEfEA g (D) A G Qe
Pyrimidines present in RNA are
(A) Cytosine and Thymine (B) Adenine and Guanine
(C) Cyiosine and Uracil (D)  THymine and Uracil
23, e G2 e &1 IwEn e ford 7 g € 2 |
(A fawien B  Ffaw
Triple antigen vaccine is not used for
(A) Dlphl.heria (B) , Pertusis
1€} Typhoid D
11191 D Taiso ' -
2 2U09-Diag) | Page 8 of 24



24. 9991w diaprang Ay SL A

(A) funn \/
oy, g eRe
(©) S 2 s (¥ .
i VI ¥ cigic
::Twh of the following is not a greenho
Mcethane ‘nhouse gas ?
(€ €0, (B}  Chlaraflugracarba®
(D)  Nitrogen
s, TR TS U ufag R
() Tafed & _
e @) =il &
c) T o
“ e (D) afgarT & e
kanha National Park is famous for
2 B Tigers
I hiRacer . (D) Crocodiles
/26/ f  BH SRR W T FH T 2
(T, SR T (B) T, MG AR T
M’ Tt SR ¥R (D) B, T SR FH

Which of the following is the correct food chain ?

Goat, Cow and Grass
Grass, Fish and Goat

?Iﬂl'-s—ﬁl’@w?
T

Sugar + Phosphate |
None of these

" (A)  Grass, Wheat and Mango (B)
\(9/ Grass, Goat and Lion (D)
(A] IR + T AEZH g% o9 (B)
(C) RIS g O, + BIEhe (D)
Nucleoside is _

N gl Sugar + a nitrogenous base (B)

o (C)  Nitrogenous base + Phosphate (D)
[ 119 ' '
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og/” Tifte Fdim &l e &

R G SRR i
o e Com) AR
The process of formation of gametes is called '
J&)  Gamctogenesis (B)  Cytokinesis
(C) Sporogencsis (D)  Nonc of these
29, TElevH ToRE §
(A) TS | (B) TSRS
(C) T (D) e
Restriction cnzymes are
(A)  Exonuclease . (B) Endonuclease
(C) Ligase (D)  Polymerase
3¢ i T e R i & "
(A) TERTH (B) HISAT &Y
(C) Ukl o &, (D) (A) ¥R (B) ST =t
In National Park, protection is provided to |
(A)  Flora (B) Fauna'
y Ecosystelin (D) Both (A) and (B)
3. Tiiis searear frgd gefa & 2
By s B)  WEER
8- i .
©  Hemr) D) T e
Secondary Productivity is related to
(A) Producerg

(C) (B) Herbivdres

Cal‘nivore
> (D)  None of these

[ 1191 |
Page 10 of 24



32. S
TRERTESZ 3§ g

(A)

(C)

T8}
T Ty o

Pastcuriza;
as 21100 s 1
§ heating
of

(A)
(C)

mi]k orlly

any liquid at 700C

)3:‘ wrtale gt &

(a) TH-TR

) BERla

The wall of pollen grain is

(A). Single layered

(C Triple laycered

.y AR SCIE B @

(a) Feg-mesT @

C oEmEd

T-lymphoqrte originates from
) Bone marrow

(C) Thymus

35. EcoRl USTEH &I Oid &

(C)

Bam H1
(A) SR (B) SHI

Source of EcoRI enzyme is

(A)
(C)

Bam H1
Both (A) and (B) -

{

1y

{ny

(B)
()

(B)

(D)

(B)
(D)

faay ol cover a1

ot i el andi

any liquid abave (v

none ol these

fewrla
-

Doublc Inycred
Multi-layered -

_@(ﬁzﬁ

(D)

(B)
(D)

(B)

(D)

(B)
(D)

IFd |

Stomach

Liver

E.coli
Hind111

E.coli
Hindl11

a; w

[119]D
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36.
o g (B)
. gresfeet
(o) (A}aTR(B)?ﬁ:ﬁ by 7%
lant(s) ?

| (A) Drosera _
(C) Both (4) and (B)

b4 5 3 i R A E 2

‘(A) .‘i’ﬁ | L B) ¥M
- I i | . . 3iT
© tAleﬂUBmﬁf S o ¥
i - “ )
.'Oul of the. followmg whlch one is’ hennaph;rodlte organism -
(a) . Hen. O e (B) Snake
' c) . Both (a) and B i y/ Barthworn
r/aﬁﬁmﬁmﬁﬁw%:' S
- (A) IS I =, " (B) Sffeo]
' © Eﬁ'?j‘\'rl’faﬂ = I FIRTEHT WA
Cfﬂorella 1satyp_e-jof.' ' _ ' .‘ ' | ) :
L Algae .. e | . {B) Eacteria

" (C)  Protozoa (D) "~ Single cell protein

‘ﬁr%vhﬂ’a‘iﬂgsﬁﬁﬁmwaﬁm%p _

® U .' o | "(B) . e
© . . O ﬁ*’g
Cf}"gene Preyents wh:ch crop from bollWorm ?

(&)  Cotton. . o ( Tea

(C)  Mangp ’_"--: ' “

(11970 (oo

N Wheat
L mumwﬂm _ s

- >Eﬂ€& 12. nf24 -



©) Q@:ﬁqaﬁ'\rwl@ﬁ:{

Purine bases of DNA are

(B) Hrszﬁhaﬁ?mafﬂq
(D) 'ﬁﬁﬁ_aﬁé%ﬁ

(A) Adenine and Cytosine
Adenine and Guanine

/mmm@am%a
() (A)éﬁ?'(BJﬁ o B y'ﬁﬁ@aﬁéaﬁr

Cancer is caused by |

{B)  Cytosine and Thymine
(D)  None of these '

‘_/'eﬁﬁa"ﬁm

‘ (A) Ba-chria | :' - _ QB) Oncogenes
(C) Both (A) and (B) _ | (D). .” None of these
b, gEwEAAFTEEE 2. o
3 (A) aﬁﬁﬁ ST | - (B) i IS |
© wekma o FHIREA

Which one of the followmg is possible in m1cropropagat10n ?

(A)  Ascxual reproduction B) Sexual reproduct:on |

(C) Both(A)and (B) . (D)  None of thesg
43, mmﬁﬁqﬁwﬂ’lﬂ@ﬁrmﬁ?-* '

(A)  STEHE () .

) . IEH . R sqﬂ g ot
Aril is edible in Whlch of the following fruits ? '

(A) .Myristica o, (B) Litchi
(C) Annona - S (D) All of these

| 1119 ) D [(A)-9009-Dgas) | " Page 13 of 24




onz n’%ﬂWGﬂW% -
AT

@A) T T
o T  p wHdw

" Indicator of SO, pollution is .

(A)  Algac ' ‘ )  Lichen
(C) Fungi - (D)  All of these

45. Wﬁﬁﬁhﬁ?mﬁ%'?

) g v('ﬂ/'ﬂ:ﬁ”‘%{qa@g’

L (C) w—iﬁn qgﬂaa"f . D A) #R (B) gIAT

Honcy is made by T .

(A) . Male hOncybcc | , ¢ - (B) . "Queen honeybee

(C)  Worker honcybee . (D) | Both (A]' and (B)

/ﬁmmﬂﬁqﬁaﬂﬂﬁgﬁm’rﬁﬁ?ﬁ%f |

(A) & | . (B ®E
&V((AJafR‘(BJﬂ?’f o D e

Which diseas-é;_'is found in hen ? _ o

(A) - Cﬁolgra - - (B) Stut

(C)  Both (A) and (B) (D)~ Ragikhet

Seoll Ud ST @ SeT TRE el % T @ SR o 9

(&) e B Sy

C _

QP o e

The

and Dosa is mad
{A)  Bacteria ) by the use of which microbe ?

©  Virus | (B)  Lactobacillus
l 110 ] D ;.(M'goﬁm \/}’ Yeast
) o — ) P“E’.e 14 of 24 i




/wﬁw Rrer s e e 5

Agarose is extracted from

(A) T
. (C) URHg
(A) - Maize
(C) - Cycas

/ﬂq’ﬂwfmﬁwﬁamm;
(A) Wmaﬁm
- © ﬁ?ﬂaww

Operon model was pfop'os'ed by‘l'_ |
(A)  Watson and Crick’
Jacob and Monad

(B) IRl U

D) T QBT

. y Sea weeds

(D)  Nonec of these
e R
D) A

- .(B) Nirenberg
- (D) * None of them

3 o

‘)ﬁ‘{' CO2 ;.(Bl- Hz o
© CHy o wEaw
Biogasch_itgins‘-.'- A b
(A)  CO; - B Hp o

' CH4 .. (D). Allofthese
(A) ﬁﬁ@q - (B Hmﬁwﬁﬁﬁ
Loy ¥ D) S

In which stage does crossmg-ovcr take place ?

(A) °  Leptotene
"~ (G} Pachytene

(B) Cytokmesns .
(D)  Diakinesis

. h‘-‘-h__
1119 D [(£)-5009-Dsw

Page 15 of 24



52,

SR E

e

55.

Mezilostize @ fuas) #w 2@ & 2
(3 apr L1 7R

(7) MV 1
©) b @y A o
PCR is uaed to detect )
(A) HIV \/"}}/ T.H.
© (D) Cancer

(l}((‘.‘hnlrm
S E ﬁifaﬂmamz‘hp’lﬁrmm%l §'€f([UT€FTE'rnF‘I?

) s (B)  IHEFRAT
© SerERd (D) ¥ @
Every living cell of plant can give risc to thc wholc plant. This property
known as
(A) Cloning (B) Somaclonal
'I‘otipowncy (D)  All of these
/ Bgesl Gl % yorde | TurgHi GO T 2
(A) n (B) 2n
€ 3n (D) (A) 3R (C) &
What is the ploidy level of chromosomes in endosperm of angiospermic plant?
(A n ( ‘2 n
(C 3n ;
{ ) (D)  both (A) and (C)
Hafa =i Iy NG
Qmemﬁ%',aaummw%
(A) T S "
- B) 3T S

©)  (A) 3R (B) §F

thl - Sexualy eproduction

(C})  Both (a) apng (B) ‘(B',/ Asexual reproduction

{119]D (A)-go“c."éi“‘ : !DV Internal fertilization
DBQ] . ‘/
Page 16 of 24 |



}_ HIFTE Yl o7 1 gl G ¥y P ) o

Y 2 ‘} i
C) 44 7
What is the number of chromosomes preaent in humar gametes
2
A 2 My 23
(C) 44 m 46
57 HIRA TS ¥ W=m a7
(A) ﬁ:h ED| ﬁ?ﬁﬁm (B} :'rﬁ'.‘r 21 I'{'EF{'F.:WT':f
(C) SR F FEvE (D] W7 T R

What docs operon model represent ?
Gene expression

(A) Gene synthesis (B)
( Gene regulation (D)  Gene function

58. [ ® ¥ fHden ISIreA @A SR § 2

(A)  YRI®T | y{w

€ A | (D) T 9 9l
Thalamus is edib'lé part in which of the 'following ?
AKX~ Annona ' , (B) Apple

(C) Orange (D)  All of these

yﬁwﬁmﬁﬁwmm% ?
(A)  ehuwdEl B) JwRfEiw

\(g(/(mafms)ﬂﬁ (D) sﬂﬁﬁﬁéﬂﬁ

DNA is genctic material of
(A} T™MV \_(Bj/ li?acl;';':m}phage
(C)  Both (A) and (B) (D)  None of thege

e,

S Coen”
o~ -

] '
91D {A)- 00CH-D(24) Page 17 of 24



" e A ) MO s & Sl 1 S S

o

) TG v p) - i
y\ EREHIE o) FEAEE Tl
Flow of energy in food chain of an ccosystem is
A1/ Unidirectional (B) Bidirectional
(C)  Multidirectional * D) None of these
61. T TR ® TH Aaw @R Tl ¢ ? '
() el (B) IRy gRIFTGRTT
()  Ter ‘ D) TSI
Which of the following is not a biofertilizer ? _
(A)  Azotobacter . (B)  Bacillus thuringiensis .
(C) Azolla . (D)  Clostridium
/ &7 T T HeHAOT A ma; gRT E:IHT g ?
c W (D) EH

Tuberculosis is transm:tted by

(A)  Water \})/ Air

« (C) Insect ' ‘ \}?}4 Contact
63. P Ruwex Wqﬁﬁmﬁwﬁm’mm% ?

(ﬁ) ke IUQ . | ‘-(// ;ﬁa
B i . wawh
Bio-

(A rea:te"i i 0pUmal conditions produce
rod ‘
©  Me d:::; (B) Organism
(D)  All of these

A)-Q —_—
| 22 B Page 18 of 24



My Gereqiam

D) fufsea

(B) Influcnza

- s (D) Mcasles
65. et 7 i R T wifg T/
W T e [ p—
€ e . D) R
Which of the following is not included in animal husbandri' ?
(A)  Bee- keeping . (B)  Poultry farming
(C) FISh fazmmg (D) Organlc farming

. HﬂTﬁfﬁﬁﬁfw’HﬂWWﬁTﬁﬁ?ﬁﬁﬁ%’

(A) ﬁ?ﬁ ITER _' ‘B) o o ARTA

C) %I e . o (D) TR @

Who among the following is not related with microbiology ?

) Louis Pasteur (B) J.D.Watson

(C) Stephan Hales
uJ T-3RGY ff

(D} B Robert Koch

) - Z-aweg A
.

;‘lg]\mﬁ

(A)-9000- D). |

Page 19 of 24 .




Anticodons a1¢ found in
)_@/ t-RNA

(A) m-RNA
(C) r-RNA (D) Nonc of these
f,y Srewr 3 whatee foH
(A) ggerdl &l fram (B) yﬂﬂﬁ]ﬁ T g
© @R @ o) T AP
Mendel proposed
(a) , Lawof li.nkage \/" Law of inheritance

( Both (A} and (B) [D) Nonc of these

/gwé;mﬁaﬂ?wamﬁ%:; |
(A) ‘:rﬂTﬁ'ﬂTﬂﬁmﬂ 8 o u (B) | waﬂﬁ-qq
c Wﬁwﬂﬁw o mﬁﬁéﬂé‘r |

Law of segregation is also knownas ..

» A & ' ‘ .
(A) Law of dominance - (B) . Lawof ipdepepdent assortment

Maw of purity of gametes (b) " None of these
70. =Y weieral o FAAIOT <A nzﬁrrfr’r FNE % |
A SeF @ SR
() foerm T
- (D) TR fafayer
Which of th i | '
e e following factors is im i
; . portant in . - y
(C) Isolation - (B)  Mutation
' (D)  Continuous variation

{1191 D [(a)-9005 B
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Questlon Nos. 1 to 20 |
are Short Answer Type Answer any 10 questtons Each question
carries 2 marks ; '

1, aﬁfﬁmﬁﬂw% ?sﬂ%mmwmﬂmwm%mmaﬁqﬁl 2

- What is Amoeb1a31s ? Name 1ts Causal orgamsm and descnbe the s}'mptﬂgls Uf
this disease. https /‘/www bsebstudy com

4 Tt o E 2 v v ey A P
- What are allcrg:les?Descnbe xts symptoms in bnef : ¥ J
/ wEedARE e 2
‘Write the- functmns ofblood T e | | - ‘ ,
4/ ﬂaaaﬁﬁam%?w%ma’fzmaﬂ#aﬁl I R

hat is global warmmg ? Explam its effects

- Whatis mbreedmg? o R S o ;
6. wemeeR RS : 2

Throw hght on Klmefelter S syndrome
7. ?ﬁoqqoaﬁoﬂmglﬁl L
| Throw light on G. M.O.
‘8/ WW%Wmmw@mmml

Draw a ncat and well labelled dlagram of transverse Sechon of hy '
man Ovary,

[119]D (A) -9009-Dgaay| Page 210f24 D
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o,/ A @ wFe Rl &1 fod
/ Write rcasons for success of Mendel.
10, g SR S I it &1 |
Define Coupling and Repulsion.
11, ey F ZrabEee & S W I\
Describe transcription in brief.

/1/2. S (S =R w#ﬁ%ﬁﬁwﬂ@ﬁ'

. Explain Biopiracy in brief.
/iz( e R R e € 2
<« What is test-tube baby ?

4, e e & e s T

, ’\ '. . . . ) » F
Describe the-ecological adaptation of xerophytic plants.

15. aTchiee] & EIRUIHT &1 SU W
/ S

16, S FicReA U FHRT SIeA |

Describe the ill effects of alcohol.

Comment on Innate'lmlﬁumty

(N P EPETER S SO

| ~ ER ”maiﬁ' ¥ fr e et Wél‘r & T fa@ G qaim aa mﬁ‘@

%mmaﬂﬁﬁl

Name any ¢y, en
function of cach 5

{ them.

Yo Page 22 of 24
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 Question Nos 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

questzon cames 5 marks. Give your answer in about 120 words 3x5=15
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'Wnte an essay on tlssue culture. | )
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/ | Describe fcrt.lh/auon in flowering plants.
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| Describe recombinant DNA technology in brief. .
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Describe three ecological pyramids with suitable examples,
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~ .What is pisci ..
is pisciculturc ? Mention its role in cnrichment of our food.
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